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1 Question Description Which institution in India primarily deals with adjudicating environmental disputes and enforcing environmental laws?

A Ministry of Environment, Forests, and Climate Change

B National Biodiversity Authority

C Central Pollution Control Board (CPCB)

D National Green Tribunal (NGT)

E None of the above

Correct Answer D

Marks 1



2 Question Description What is the study od the rings in the trees to estimate the life span and the climatic conditions prevailing in the past
called:

A Ring analysis

B Varve analysis

C Dendrochronology

D Paleoclimatology

E None of the above

Correct Answer C

Marks 1



3 Question Description What is the main objective of the recent amendments to the Wildlife Protection Act in India?

A Encouraging captive breeding of endangered species

B Increasing the penalties for wildlife offenses

C Enhancing protection for critically endangered species

D Allowing restricted hunting in certain areas

E None of the above

Correct Answer C

Marks 1

4 Question Description Which category of the Wildlife Protection Act primarily addresses the protection and conservation of plant species?

A Schedule I

B Schedule II

C Schedule III

D Schedule IV

E None of the above

Correct Answer C

Marks 1



5 Question Description Which human activity often leads to habitat destruction, alteration of natural landscapes, and subsequent loss of
biodiversity in terrestrial ecosystems?

A Renewable energy production

B Conservation initiatives

C Urban sprawl and expansion

D Sustainable agricultural practices

E None of the above

Correct Answer C

Marks 1



6 Question Description Which of the following animals have a diet mainly consisting of Bamboo?

A Hares and rabbits

B Sloth Bears

C Golden Langurs

D Red Pandas

E None of the above

Correct Answer D

Marks 1



7 Question Description Which forest resource is notably crucial for the economy and ecology of India due to its contribution to timber
production, carbon sequestration, and biodiversity conservation?

A Teak forests

B Bamboo forests

C Mangrove forests

D Sal forests

E None of the above

Correct Answer D

Marks 1



8 Question Description The most endangered Asiatic top predator on the edge of extinction is

A Siberian Tiger

B Asiatic Lion

C Black Bear

D Dhole

E None of the above

Correct Answer D

Marks 1



9 Question Description Which appendix of CITES lists species that are threatened with extinction and prohibits international trade except
under exceptional circumstances?

A Appendix I

B Appendix II

C Appendix III

D Appendix IV

E None of the above

Correct Answer A

Marks 1



10 Question Description Bats are normally found in caves what is the study of caves called?

A Cavology

B Geomorphology

C Batology

D Speleology

E None of the above

Correct Answer D

Marks 1



11 Question Description What would be the impact of global warming on mangrove forests?

A They will grow more luxurious

B Large areas of mangroves will be submerged

C Their role as carbon sinks will become more important

D Both a and c above

E None of the above

Correct Answer B

Marks 1



12 Question Description Which soil conservation method focuses on creating a series of steps or terraces to reduce soil erosion on steep slopes?

A Mulching

B Contour plowing

C Shelterbelts

D Terracing

E None of the above

Correct Answer D

Marks 1



13 Question Description Which human activity poses a significant threat to wetland ecosystems?

A Afforestation programs

B Urbanization and land reclamation

C Wetland restoration initiatives

D Controlled water withdrawal for agricultural purposes

E None of the above

Correct Answer B

Marks 1

14 Question Description Which category of forest-dwelling communities is primarily eligible for individual land rights under the Forest Rights
Act?

A Tribal communities living in forest areas

B Only economically disadvantaged communities

C All communities residing near forested regions

D Indigenous communities with a history of forest dwelling

E None of the above

Correct Answer D

Marks 1



15 Question Description Under what section of the wildlife(protection ) Act 1972 is a National park declared

A Section 20

B Section 18

C Section 35

D Section 4

E None of the above

Correct Answer C

Marks 1

16 Question Description A tiger reserve in the Mhadei Wildlife Sanctuary is located in

A Assam

B Goa

C Orissa

D Meghalaya

E None of the above

Correct Answer B

Marks 1



17 Question Description A new killer stronger than morphine was found in the venom of

A Scorpion

B Cone Snail

C Krait

D Horse-Shoe Crab

E None of the above

Correct Answer B

Marks 1

18 Question Description What is indicated by a greater distance between excessive rings of a tree?

A A colder climate

B A wetter climate

C Advancing glaciers

D A drier climate

E None of the above

Correct Answer B

Marks 1



19 Question Description Which principle of conservation emphasizes that the rate of use of renewable resources should not exceed their natural
regeneration rate?

A Principle of Sustainable Development

B Principle of Maximum Sustainable Yield

C Principle of Carrying Capacity

D Principle of Ecological Footprint

E None of the above

Correct Answer B

Marks 1

20 Question Description In Goa, which forest type is prominent and vital for the conservation of biodiversity?

A Tropical moist deciduous forests

B Thorny scrub forests

C Semi-evergreen forests

D Tropical dry evergreen forests

E None of the above

Correct Answer A

Marks 1



21 Question Description Chronic Exposure of plants to Sulphur dioxide leads to chlorosis, which is

A Retarded Growth

B Blackening of buds

C Burning of roots

D Bleaching of Green Leaves

E None of the above

Correct Answer C

Marks 1



22 Question Description Under the recent amendments to the Wildlife Protection Act, which body is responsible for enforcing measures to
prevent illegal wildlife trade?

A Ministry of Environment, Forests, and Wildlife

B Central Bureau of Investigation (CBI)

C National Green Tribunal (NGT)

D Wildlife Crime Control Bureau (WCCB)

E None of the above

Correct Answer D

Marks 1



23 Question Description International Year of biodiversity was

A 1996

B 1999

C 2006

D 2010

E None of the above

Correct Answer D

Marks 1



24 Question Description Which wildlife initiative in India is specifically dedicated to the conservation and management of Tigers and their
habitats?

A Tiger Conservation Act

B Fauna Protection Act

C Project Tiger

D National Tiger Reserve Program

E None of the above

Correct Answer C

Marks 1



25 Question Description Chlorophyll is a porphyrin Containing

A Magnesium

B Calcium

C Iron

D Tin

E None of the above

Correct Answer A

Marks 1



26 Question Description Biodiversity Hot spots in India are
1. The Eastern Ghats

2. Eastern Himalayas

3. Andaman and Nicobar Islands

4. Western Ghats

Which of these below are correct:

A 1,2

B 2,3

C 2,4

D 2,3,4

E None of the above

Correct Answer C

Marks 1



27 Question Description Which of the following factors has the most significant influence on forest soil formation?

A Vegetation cover

B Climate

C Topography

D Soil organisms

E None of the above

Correct Answer B

Marks 1



28 Question Description Under the Forest Rights Act, what is the primary purpose of the Community Forest Resource (CFR) rights granted to
eligible communities?

A To restrict forest resources for commercial purposes

B To restrict access to forests for conservation purposes

C To empower communities to conserve and manage forests sustainably

D To privatize forest lands for individual community members

E None of the above

Correct Answer C

Marks 1



29 Question Description What is the primary purpose of CITES in the context of global wildlife conservation?

A Preventing exploitation and trafficking of endangered species

B Regulating the use of wildlife in traditional medicine

C Ensuring sustainable utilization of wildlife resources

D Promoting international trade of endangered species

E None of the above

Correct Answer A

Marks 1



30 Question Description Which legal instrument in India specifically addresses the conservation and management of crocodiles and their
habitats?

A Reptile Conservation Project

B Wildlife Protection Act

C National Biodiversity Authority

D Environment Impact Assessment Notification

E None of the above

Correct Answer B

Marks 1



31 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description Identify the word or phrase from the passage that implies “continuous or recurring conduct of business”

A international court

B army or navy in the civilized world

C perpetual session

D carry its judgement into effect

E None of the above

Correct Answer C

Marks 1



32 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description Find a phrase that means “sending shot and shell crashing through bodies of men!”

A firing bullets and lobbing grenades

B shooting arrows in the dark

C firing bullets and shooting water hoses

D bombing unarmed men

E None of the above

Correct Answer A

Marks 1



33 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description Which of the following is implied by “its” in the statement “the military force is expected to carry the its judgement
into effect”

A the government of the day

B the civilized world

C Christendom

D the international court

E None of the above

Correct Answer D

Marks 1



34 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description “The passage implies that the only task or function for the forces in a civilized world should be only

A to impeach the governments that defy the international courts

B to ensure that the court is in perpetual session

C to effectively implement the decisions of the international court

D to make sure that the rest of Christendom is disarmed

E None of the above

Correct Answer C

Marks 1



35 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description “No man has imagination enough to paint the agonies, the horrors, and cruelties of war.” This sentence can be correctly
re-written as

A Every man lacks adequate imagination not to paint the agonies, the horrors, and cruelties of war.

B All men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.

C Some men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.

D All men do not lack the imagination enough to paint the agonies, the horrors, and cruelties of war.

E None of the above

Correct Answer B

Marks 1



36 Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description In the above passage, the phrase “the republic of intellectual liberty” implies

A the rational, free-minded people

B the mind that is allowed to think freely

C democracy of the intellectuals

D people who are free thinkers

E None of the above

Correct Answer A

Marks 1



37 Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description In the statement “Courage is liberty”, the obvious figure of speech is

A personification

B simile

C synecdoche

D epigram

E None of the above

Correct Answer D

Marks 1



38 Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description Hypocrisy is to ------------------ as ---------------- is to a traitor. Fill in the blanks with appropriate options given below,
so as to match the quality with the individual possessing it.

A hypocrate; traison

B hypocrite; treason

C hypocritical; traitorship

D hypo ; trait

E None of the above

Correct Answer B

Marks 1



39 Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description Identify the term or phrase from the passage that is used to imply kingdom or monarchy

A republic of intellectual liberty

B dungeon

C sceptre

D realm of the mind

E None of the above

Correct Answer D

Marks 1

40



Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description Identify from the options given below, the symbols of monarchy used in the passage

A robe, sceptre, purple, republic

B realm, robe, sceptre, crown

C robe, sceptre, crown, freedom

D realm, monarch, authority, fear

E None of the above

Correct Answer B

Marks 1



41 Question Description In which state did the Chief Minister inaugurate the 4th National Chilika Birds Festival?

A Uttar Pradesh

B Karnataka

C Tamil Nadu

D Odisha

E None of the above

Correct Answer D

Marks 1



42 Question Description Who is eligible for free access to the Pertuzumab-Trastuzumab drug combination in Goa?

A Senior citizens

B Children with disabilities

C Pregnant women

D Cancer patients

E None of the above

Correct Answer D

Marks 1

43 Question Description Who revealed the book titled "Artificial Intelligence and National Security" at Pune's Defence Literature Festival?

A General Anil Chauhan

B General Vivek Ram Chaudhari

C General Manoj Pande

D General R Hari Kumar

E None of the above

Correct Answer A

Marks 1



44 Question Description Who broke the world record for the most time spent in space?

A Gennady Padalka

B Oleg Kononenko

C Nikolai Rukavishnikov

D Vladimir Shatalov

E None of the above

Correct Answer B

Marks 1

45 Question Description When is World Wetlands Day celebrated globally?

A February 2

B January 15

C March 5

D April 12

E None of the above

Correct Answer A

Marks 1



46 Question Description On which date is National Black HIV/AIDS Awareness Day observed annually?

A February 1

B February 7

C February 14

D February 21

E None of the above

Correct Answer B

Marks 1



47 Question Description Where is the Surajkund Mela 2024 taking place?

A Faridabad

B Jaipur

C Secunderabad

D Ahmedabad

E None of the above

Correct Answer A

Marks 1



48 Question Description What is the Uttar Pradesh government promoting through the 'EV Upyog' Portal?

A Agriculture

B Tourism

C Healthcare

D Electric Vehicles

E None of the above

Correct Answer D

Marks 1



49 Question Description Which Indian state has launched the Digital Detox Initiative for a responsible gaming environment?

A Maharashtra

B Tamil Nadu

C Karnataka

D Kerala

E None of the above

Correct Answer C

Marks 1



50 Question Description Which state won the Nagesh Trophy in the Men’s National T20 Cricket Tournament for the Blind 2023-24?

A Andhra Pradesh

B Maharashtra

C Karnataka

D Tamil Nadu

E None of the above

Correct Answer C

Marks 1

51 Question Description Annihilation: Fire :: Cataclysm : ?

A Earthquake

B Flood

C Emergency

D Steam

E None of the above

Correct Answer B

Marks 1



52 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1



53 Question Description Directions: Read the information carefully and answer the questions given below.

In a certain code language,
 

'speak nicely to all' is coded as "ka cu ma he"
'all are like us' is coded as " si fo he to"
'teach us lesson nicely' is coded as " po ma fo re"
'lesson like all humans' is coded as "he re gu si"

What would be the code for 'speak to me'?

A ma ka go

B lo ma fo

C re ma ku

D ka cu lo

E None of the above

Correct Answer D

Marks 1



54 Question Description Study the following numbers carefully and answer the questions given below:

5836   7469   8251   6293   4172
If the digits of all the numbers are to be arranged in ascending order within the number from right to left then
the numbers thus formed are to be arranged in descending order from left to right then what would be the sum
of second digit of third number from left end and third digit of fourth number from right end?

A 12

B 10

C 7

D 9

E None of the above

Correct Answer D

Marks 1



55 Question Description

A 1

B 2

C 3

D 4

E None of the above

Correct Answer B

Marks 1



56 Question Description Which Pair does NOT belong with the others?

A 117 : 13

B 162 : 18

C 171 : 19

D 304 : 16

E None of the above

Correct Answer D

Marks 1

57 Question Description Study the following questions carefully and choose the right answer:

Statement: Due to substantial reduction in fares by different airline services, large number of passengers so far
travelling by upper classes in trains have switched over to airline services.
 
Courses of action:
 
I. The railways should immediately reduce the fare structure of the upper classes substantially to retain its passengers.

II. The railways should reduce the capacity of upper classes in all the trains to avoid loss.

A Only I follows



B Only II follows

C Either I or II follows

D Both I and II follow

E None of the above

Correct Answer A

Marks 1

58



Question Description

A A

B B

C C

D D

E None of the above

Correct Answer D

Marks 1



59 Question Description In a city, Fruit Lane was to the north-west of Jewellery Lane. Grocery lane was in the east of fruit lane which was
towards the south of vegetable lane. Toy lane was towards the south-west of grocery lane such that it was situated
towards the east of Jewellery Lane. Clothes lane was 20 km towards the north of Jewellery Lane, which was 4 times the
distance between Jewellery Lane and Toy Lane. Inner circle was the midpoint between Fruit lane and Grocery lane and
also Jewellery lane and Clothes lane.The distance between Vegetable lane and fruit lane was half of the distance
between Clothes lane and Inner circle.
Vegetable lane is in which direction with respect to the Clothes lane?

A West

B East

C South-west

D North-east

E None of the above

Correct Answer C

Marks 1



60 Question Description Micky is brother in law of Akku, who has two daughters but no son. Rinku is cousin of Quki and brother of Riku.
Vicky has two daughters and one son. Unni has only one son and one daughter. Micky is the only sibling of Wiku.
Tinu and Sanu are daughters of Xoxo. Donu is also the member of this family. Riku is granddaughter of Akku, who is
married to Wiku. Unni and Vicky are sons in law of Wiku.
 

How is Wiku related to Donu?

A Father

B Mother

C Grandfather

D Can't be determined

E None of the above

Correct Answer D

Marks 1



61 Question Description In question below given two statements followed by two conclusions numbered I and II. You have to take the given
two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusion and
then decide which of the given conclusions logically follows from the two given statements, disregarding commonly
known facts.

Statements: Some books are tables. Some tables are mirrors.
Conclusions:
I. Some mirrors are books.
II. No book is mirror.

A Only conclusion I follows

B Only conclusion II follows

C Either I or II follows

D Neither I nor II follows

E None of the above

Correct Answer C

Marks 1



62 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1

63



Question Description

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1



64 Question Description Two trains are moving in the opposite direction and their speeds are in the ratio of 2: 1. If the first train crosses a
standing man in 5 sec and another train crosses the same man in 8 sec, then determine the time taken by trains to cross
each other.

A 6 sec

B 3 sec

C 5 sec

D 9 sec

E None of the above

Correct Answer A

Marks 1



65 Question Description The age of Sitamma 10 years ago was thrice the age of Radha. 10 years hence, Sitamma’s age will be twice that of
Radha. What is the ratio of their present age?

A 7:3

B 3:1

C 2:1

D 1:4

E None of the above

Correct Answer A

Marks 1



66 Question Description Today is Monday. After 61 days, it will be:

A Wednesday

B Saturday

C Tuesday

D Thursday

E None of the above

Correct Answer B

Marks 1



67 Question Description Rani, Supriya and Amita work on a project. If each of them is of a different efficiency. Who is the fastest worker
among them?
Statement I : Rani and Supriya take 5 days to complete the project while Supriya and Amita take 10 days to complete
the same project.
Statement II : Rani and Amita take 30/7 days to complete the project.

A If the data in statement I alone is sufficient to answer the question, while the data in statement II alone is not sufficient
to answer the question

B If the data in statement II alone is sufficient to answer the question, while the data in statement I alone is not sufficient
to answer the question

C If the data either in statement I alone or in statement II alone is sufficient to answer the question

D If the data in both statements I and II together are necessary to answer the question

E None of the above

Correct Answer A

Marks 1



68 Question Description Study the following questions carefully and choose the right answer:

Statement : Postal rates have been increased to meet the deficit.
Assumptions :
I. The present rates are very low.
II. If the rates are not increased, the deficit cannot be met.

A if only assumption I is implicit

B if only assumption II is implicit

C if either I or II is implicit

D if neither I nor II is implicit

E None of the above

Correct Answer B

Marks 1



69 Question Description Choose the correct alternative from the given ones that will complete the series.
AD   EI   IN   OS   ? 

A UX

B XY

C WY

D UY

E None of the above

Correct Answer A

Marks 1

70



Question Description Kindly study the following information carefully and answer the question that follows:

'B + A' means 'A is son of B'
'B x A' means 'A is father of B'
'A % B' means 'A is son-in-law of B'
'B - A' means 'A is wife of B' 
'A * B' means 'B is brother of A'
'A # B' means 'B is the only sister of A'

Which two symbols will come in place of question marks in the following equation to show that E is wife of X?

X % P – C ? D? E

A x and +

B + and -

C + and #

D Either A or C

E None of the above

Correct Answer C

Marks 1



71 Question Description Statement : A part from the entertainment value of television, its educational value cannot be ignored.

Assumptions :
I. People take television to be a means of entertainment only.
II. The educational value of television in not realised properly.

A if only assumption I is implicit

B if only assumption II is implicit

C if either I or II is implicit

D if both I and II are implicit

E None of the above

Correct Answer E

Marks 1



72 Question Description

A 3

B 59

C 21

D 112

E None of the above

Correct Answer C

Marks 1



73 Question Description

A 5

B 6

C 8

D 9

E None of the above

Correct Answer D

Marks 1



74 Question Description Below question consists of three statements. Based on the first two statements, the third statement may be true, false, or
uncertain.

The hotel is two blocks east of the drugstore.
The market is one block west of the hotel.
The drugstore is west of the market.
If the first two statements are true, the third statement is

A true

B false

C uncertain

D Cannot be determined

E None of the above

Correct Answer A

Marks 1



75 Question Description Study the following questions carefully and choose the right answer:
Statement: It is necessary to adopt suitable measures to prevent repetition of bad debts by learning from the past
experiences of mounting non-performing assets of banks.

Courses of action:
I. Before granting loan to customers their eligibility for loan should be evaluated strictly.

II. To ensure the payment of instalments of loan, the work, for which loan was granted, should be supervised minutely
on regular basis.  

A Only I follows

B Only II follows

C Either I or II follows

D Both I and II follow

E None of the above

Correct Answer D

Marks 1


